Spacer (if req'd)

Top of post ~.

MAILBOX

(3 2Reqd /Q |

| Nomina1 4" x 4" post (treated)

WITH WOOD POST

Details above platform same as
shown above with wood post.

Top of post :Q_ ot IL‘E—W—” —— Platform
™~ had | e e R Shelf
T Bracket
o«
[}
Cy — —| (@) 2Reqd
\C
Ground line
o/\
Nominal 2" std. galv. _
L pipe (2 3/8" 0.D.)
O‘ ‘O B
| | / Anti-twist plate =~ ——_
o o :
| I 2Reqd (5

WITH PIPE POST

LEGEND

@ #8-32 x "L" truss head machine screw with two #8
flat washers, #8 lock washers, and #8 hex nut.

@ 5/16"-18 x 3/4" hex cap screw with two 5/16" flat washers,
5/16" lock washer and 5/16" hex nut.

(3) 5/16™18 x 4 1/2" hex cap screw with two 5/16" flat washers,
5/16" lock washer, and 5/16" hex nut.

@ 5/16"-18 x 3" hex cap screw with two 5/16" flat washers,
5/16" lock washer, and 5/16" hex nut.

@ Nominal 2 3/4" muffler clamp

For platfrom, bracket, shelf, spacer and anti-twist plate
details, see Standard Drawing E 611-MBAS-03.

INDIANA BEPARTMENT OF TRANSPORTATION

DOUBLE MAILBOX ASSEMBLY

MARCH 2005
STANDARD DRAWING NO. E 611-MBAS-02
S
e L Vo,
S Q.
SAS) 'z
B g zz /s/ Richard L.VanCleave 3-01-05
H ™ = | "DESIGN STANDARDS ENGINEER DATE
i3 LE
N | Lst_Aichard k. Smutzer 30105
”/,/,{ ONnAL %\\\0‘ CHIEF HIGHWAY ENGINEER DATE
L
DESIGN STANDARDS ENGINEER




	BACK

